Chapter 7
YTo BBI nemaere

KA KIBIU JICHE?




Mock BCKOE Bp Ms —
BOCEMH JI1aTh Yac B.




Komopwiu wac?
Ckonvko ceudoc 8peMeHu?

TpHU 4Yac . B CEMb Hac B.

I BATH TP JATh.
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TIME EXPRESSIONS (204)

— A. Hours. The word ceituac means now. Do not contfuse it with the word 4ac (Aowur). 910 1s not
used in these time expressions.

Ceiiuac (onuH) yac. = Now it is one o’clock.

There are two ways of expressing ours: by adding both the words Zours and minutes to the
number or by leaving them out entirely.

Ceitgac 8.30. (It is 8:30). You can say: BOCEMb TPHALATH / BOCEMb 4aCOB TPUALUATH MUHYT
— B. The nouns Bpems and yac. Bpems is a neuter word.

MockoBckoe Bpems / MOE Bpems

CkoJbKo ceiyac BpeMeHH? is a colloquial way to inquire about time.

Kotopsbliit yac? is a more formal expression.

The plural of 4ac, 4acsl also means clock or watch. Notice that the adjective modifying 4acsel are
in the plural as well.

Kakue 0onbmue vacel! (What a big clock!) /'Y Bac kpacusble vacsl! ( You have a beautifil watch)



12:45 AM

2:00 AM

3:15 PM

11:30 AM

10:25 PM

4:45 AM

7:00 AM

8:05 AM

5:00 AM

1:00 AM

2:45 PM

7:55 AM
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9:00 PM
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yIpa

JTHS

BeUuepa

HOYH




Ecnu B JI Hpone 12 yac B gHA, KOT pbid 4ac B MOCKB ?

Yukaro Jlonzion AHaJpIpb

Jloc-Aumxenec Hero-Hopx Mockea ~ APKYTCK  Buovpoctox

yTpa

TTHSI
BEUepa

HOYH




Discussing mealtimes
3 8mpax, 060 U | AHCUH

Jt10 3 Brpak. YTpom Cama
3 BTpakaer.

Ot0 xkwuH. B yepom Camra xuHaer.



3 BIpaK —— 3 BTPaKarh

s 3 BTpaKaro

THI 3 BTpaKacillb
OH, OHA 3 BTpaKacT
MBI 3 BTpakKacm

BbI 3 BTpaKacTe
OHH 3 BTpPaKaloT



00 I

—» 00 marb

1 00 fgaro

TBI 00 JIacIllb
OH, OHa 00 mgacT
MBI 00 Jaem

BBl 00 Haete
OHU 00 JaroT



/KHUH —_— AKHNHATDH

s JKHUHAIO

Thl >KUHAacIlb
OH, OHA JKHWHACT
MBI JKHHacM
Bbl JKMHacTe
OHHM KUHAIOT

10



The Expression: At What time?

— Korma? (When?) 1s a more general question than Bo ¢koiabko? (At what time?). Giving the

time 1n the answer requires the preposition B, followed by a specific time.
Bo CK0JIbKO ThI 3aBTpakaeuib? S 3aBTpakaro B BOCEMb YacCOB.
Koraa tb1 00emacib? S obenaro B iBa TPUALIATb.

— The negative answer to the question Korga? is Hukoraa (never). Remember that the Russian

language uses the double negative.

Koraa BbI yxunHaere? Mb1 HUKOTIa HE Y)KUHAEM.



Bo ckonbko 6vl 3c.8mpakaeme <
Al 3. éempakaio ¢ 7 uac .

Brl 3 BTpakaere O CcTpo WIM M JUIEHHO?

Bo ck npko BbI... 00 maere?

KuHaere?

B ma cemp xumHaer BMm cre?
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Additional 1

— Answer in the negative by giving the clock time of one hour less.
— Model: Celiuac 4yeTbIpe yaca?

Her, celiyac Tpu 4aca.

1. Cenyac Tpu yaca?

. Cemngac gertnIpe yaca?

. Ceityac nBa yaca?

. Cenyac mecTtb 4acoB?

. Centuac nmgath 4acoB?

AN O B~ W N

. Celtyac nBeHaamnarh 4acoB?



Additional 2

— Answer the questions in the negative, saying that the person eats one hour later.
1. HuHa 3aBTpakaet B JIeBITh 4acOB?

HNpa n Huna obenarot B yac?

ThI 3aBTpakKaeiiib B J€BITh YaCOB?

Camra o0emaeT B 1Ba yaca?

Br1 y>xrHaeTe B IATh 4acoB?

TbeI 00€acbp B IBEHAIIIATH YACOB?

N o g A w

. BbI 3aBTpakaeTe B CEMb 4aCOB?



Additional 38

— Now you ask at what time the people eat.

Model: JIlvima 3aBTpaKaeT B BOCEMb YacOB.
Bo ckoJ/ibKO OH 3aBTpakaer?

1. SI oOemaro B nBa 4aca.

2. MBI y>)KHHAaeM B CEMb YaCOB.

3. MEb1 00eraeM B yac.

4. JIuza n Aiuta o0e1aroT B TpH 4aca.

5. MpbI 3aBTpakaem B IIECTh YaCOB.

6. 5 3aBTpakaro B CEMb 4acoB.



